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No. of Questions: 100 

~qft <l&£li : 100 

Full Marks: 300 

'iUIr;;,· : 300 

Note: (1) Attempt as many questions as you can. Each question carries 3 
(Three) marks. One mark will be deducted/or each incorrect 
answer. Zero mark will be awarded for each unattempted 
question. 

w'Flilf'l'f; >w-i)' 'lit ~ 'Ii'f.t "" 'lI"l<'l <iti ~ ~ 3 (<ft;r) at<!; "" ~i 
PriiCh "I'ffif ~ it; ~ ~ 3fq; <iiTG'TJlliI'llI ~ 31jijf{" ~ "" 

~i «Ii'li ~ WITi 
(2) If more than one alternative answers seem to be approximate to 

the correct answer, choose the closest one. 

'Ifu: 'Q."Iilf'l'f; ~ 'Ii r <"l 'Ii "'" ~ "'" it f.r'Iio mfm m, it R 'Ii C" q ~ "'" 

~i 

01. Booker Prize is given in the field of ............. . 

(1) Science (2) Social service (3) Literature (4) Films 

'~ 9}(4;I\' ~ >$I it ~ "IT<IT ~ ? 

(1) fcr.IR (2) 'WlT<if Um (3) ~iflli'4 (4) fi:f;<"! 

02. SAARC Trade Fair was organized between December 15-19, 2010 in 

(1) Kathmandu (Nepal) 

(3) Dhaka (Bangladesh) 

3 

(2) Hyderabad (India) 

(4) Islamabad (Pakistan) 

P.T.C. 
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fi W1O'f '''IT'lR -.'t<'1T q;r 011<11"i'1 f~>:1I4( 15 <'i 19,2010 i'l q;oi ~3i1 'iT ? 

(1) ifild'll1;; (~) (2) ~~(I~I~ ('IffiI ) 

(3) iW!>T (~~) (4) ~«'1I'lI~I~ (qlf'liliklH) 

03. The manager who is directly responsible for executing a function has 

a: 

(1) General responsibility 

(3) Operating responsibility 

(2) Specific responsibility 

(4) Consulting responsibility 

QW'1ifi -mit f"lcil~1( m t 1)jt "'f>1'I ih llfu":;it ............ . 

(1) >:11'11"1 f"lcil~l{l "If0l m 1 

(2) f<mq f"lcil~Rl "If0l m I 
(3) qR<jI<'l'1 'lit f"lcil~1{1 "If0l m I 
(4) ~ ~ 'lit f"lcil~l{l "If0l m I 

04. The fundamental purpose of planning is : 

(1) Coordination and affirmation 

(2) Helping the organization search its objectives 

(3) Protection and affirmation 

(4) Identifying organizational goals 

~ q;r ~'ff Q<11"i'1 t : 
(1) >:1'l"'i'H am: "1f"f'li2R 

(2) W1O'f ih ~ 'lit -&\;;r i'l m:G "if><'!1 

(3) WI\lT am: "1f"f'li2R 

(4) W1O'f ih ",'<'iT qi( q~<jI'1'11 

4 
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05. Which one of the following is not the decisional role of a manager? 

(1) Entrepreneur (2) Spokesperson 

(3) Resource allocator (4) Negotiator 

A'"1f<:'lf@d it it 'lit.! ~ '1ft f.!uPft ~ -.m ~ ? 

(1) ~ ~ (2) 'lI'r'ffiT (3) W>R 3114"", (4) i'Hd["'I{ 

06. Which of the following is not a characteristic of the scientific research? 

(1) Systematization of data 

(2) Metaphysical explanation 

(3) Study of relationship of variables 

(4) Control over variables 

f-i'"1f<:'lfl3d it it onR ~~lf1'" W'l '1ft fq>i14dl -.m ~ ? 

(1) ~ q;] ~ (2) 31ffif",,~ ~1&11 

(3) "liT iF. ~ q;] 3l"I'R (4) "liT 'R A~,," 0 1 

07. Which one of the following lake is an example of Lagoon? 

(1) Pulicat (2) Sambhar (3) Dal (4) Tallital 

A'"1f<:'lf@d it it 'lit.! -m ~ v:<'!' \"I!l~dl<01 q;] 3~lnol ~ ? 

(1) :if'<:'I"''' (2) _ (3) S<'f (4) d0.'i1dl<01 

08. Which of the following is the sole occurrence of Tin ore in India? 

(1) Jharkhand 

(3) Maharashtra 

5 

(2) Gujarat 

(4) Chhatisgarh 

P.T.O. 



llP/291/3 

(1) ~1\@Os (2) T'I\1(1 (3) ~~I\I~ 

09. Indira Gandhi "Prize for peace, Disarmament and Development" for 
2010 has been conferred on : 

(1) Atal Bihari Vajpayee 

(3) Lula de Silva 

(2) Asma Jahangir 

(4) Tony Blair 

-.R;u lJi>4l ''iIlR!, f.r: ~I&I'Ii\OI a'll f<"l'liIB' !!\{<Iil\ 2010 it >IGR flI»lT '1'lT : 

(1) 3R"('[ ~ '11"1<i41 ~ (2) 3lWIi "I~I'n\ ~ 

(3) WIT it ffl(1'1l qij (4) iRt ~ ~ 

10. As the RBI is the apex Bank of India, so which of the following is the 

apex bank of USA? 

(1) The Central Bank of USA 

(3) Bank of America 

(2) Citi Bank 

(4) Federal Reserve 

~ 3!Ro<i\o~o 'IR<l"6f>T 'lit<! ~ t ~;it R'"'1f<:'1f<!ld it -B ,!o~01l:0 "6f>T ftm 
~t? 

(1) ~ ~ ~ 31fq; ,!o~01l:0 

(3) ~ 31fq; 3l~R'li1 

(2) mit ~ 
(4) q, s \ <i1 ft"1cf 

11. In which of the following fields Dronacharya Awards are given? 

(1) Education 

(3) Journalism 

(2) Sports 

(4) Social Aervices 

R '"'1 f<:'1 f <!l d $iT it -B f<f>B it siJ 0 II ij 14 !l\ {<Ii R f<::it "!TIt ~ ? 

(1) fu~ (2) ~ ~ (3) Y>'liIRdl (4) Wlr.f ~ 

6 



12. Who is Martina Hingis ? 

(I) Footballer 

(3) Tennis Player 

~ fufim <l>"R t ? 

(I) ~G~I<'I f@<'II$l 

(3) ?:f.m f@<'II$l 

(2) Actor 

(4) Dancer 

13. Article 356 of the constitution of India deals with: 

(1) Imposition of President's rule in the state. 

llP/291/3 

(2) National emergency (3) Financial emergency 

(4) National Development council 

'lmI 'iii "Wl'IR 'liT ~ 356 ~~f"'f<l t ................... . 
( I ) <F5'! if (I e q Fil ""'fI <'Il'l ~ -B 1 

(2) ~:;1J11lO ft>lFil -B 1 

(3) ~ 311Qlrlff'4fll -B 
(4) ~ f'NiI<"l 'lftlR -B 1 

14. World leaders from 193 countries signed a new global climate regime 

called the Cancun Agreement on December 11, 2010. The city Cancun 
is located in : 

(I) Sweden (2) Mexico (3) Brazil (4) France 

fopg 'iii I 9 3 ~ 'iii 'i<rrail "'r ~ f<I '!l "'11 til "1<'1 q 1 q "'l'H<rr 'R fl;w"" 11, 20 I 0 

<it ~~ f<f;<rr t fiR'! ~ fI~~<l1 ~ tl <ffi <t'1t'1 ~ f<f.'<I ~ if t ? 

(I) f{<"l6'1 (2) 4f<ru<il (3) ~IM<'I (4) '.IOR! 

7 P.T.O. 
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15. Which of the following trains covers the largest route? 

(1) Cochin -Guwaha:ci Express 

16. 

(2) Guwahati-Triver.'idrum Express 

(3) Kanyakumary - Jammu Tawi Himsagar Express 

(4) Jammu Tawi - Guwahati Lohit Express 

f-1"1f<'lf{5ld 'lIf$~l i'i .;! ~ ~ 'liTl11'l ~ W<ll t ? 
(1) 'hl<ii'1 - :rerr;n<'t l{'f8~'8 

(2) ~ql"l"l - ftrif.co:>r l(<'I'8li'8 

( 3 ) q; "Wi! A I {l - ''''i wft fuf~mA '8anl ,m-I ( l(<'1'8 ~ <1 

(4) '""L wft - ~ql"lGl ~ l{'f8li'8 

Kanha wildlife Sanctuary is located in ............. 

(1 ) Madhya Pradesh (2) Himachal Pradesh 

(3) Megha.1aya (4) Rajasthan 

~ Of"! 4iI<R ~Rolf\!f<'f W«r t : 
(1 ) 1j~;W i'i (2) f~AI,,(1 ~ i'i 
(3) ~.'li'i (4 ) (1"I~I'1 if 

17. Which planet is nearest to earth? 

(I) Saturn (2) Venus (3) Mercury (4) Neptune 

<m "'Hi ~ ..,.oft '4;- ft'I'li" f.!<!;c t ? 
(1 ) ~R (2) WI' (3) ~'1 (4 ) ~qq-1 

18. Which one of the following is universal donor blood group? 

(1) A (2) B (3) AB (4) 0 

<m m "" ~ mof~ G1<1T ~ t ? 
(1) '< (2) on (3) '< on (4) ail 

8 
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19. In Which of the following fields Grammy Award is given? 

(2) Music (1) Literature 

(3) Science (4) Inventions and Discoveries 

Wft 35 +<I> I ( f'Rl ~ il fu:<IT "ITffT t ? 

(1) {11f~«I (2) Wim 
(3) ~ (4) 3llfCltqil( am ~ • 

20. Which country won Davis Cup in 2010 ? 

(1) France (2) Serbia (3) Bulgaria (4) Egypt 

f'Rl ~ "t 2010 il ~ 0f;1j -;;fun ? 

(1) >IiR! (2) <1MlT (3) 'il;C"IIIl:~1 (4) fi:R;r 

21. Government of India recently conferred the award of Mini Ratan to 

which of the follmving companies? 

(1) Tata Consultancy Services 

(2) Hindustan Consultancy Services 

(3) Water and Power Constancy Services 

(4) Delhi Jal Board 

m<'! m il '1mI @lil( "t f'Rl ~ 'lit 'fl:Rl «Fr' "" ~ ~ foI;I:rr ? 

(1) = 4>w~'41 {1f4<l"l (2) f~'S>«IH 4>{1,,"~'41 {1f4<l"l 

(3) = 1!:s "!fER 4>{1,,"~'41 (4) fu:'ttil OR'! oili 

22. Which of the following country has won the highest number of Gold 

Medals in XIX Common Wealth Games? 

(1) Australia (2) India (3) England (4) Kenya 

9 P.T.O. 
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(1) 311~r<141 (2) 'lmI 

23. World Leprosy Eradication day is celebrated on : 

(1) 3'" January 

(3) 23'" January 

(2) 13 January 

(4) 30'h January 

f<l ~ a "i (1 '1 k<ru" f'RI k-111"l1'l1 0!1l!1 t ? 

( 1 ) 3 ',1'1 <'H1 "<"liT (2) 13 "11''1(1 "<"liT 

(3) 23 "I'1<'H1 "<"liT (4) 30 "I'1<'H1 "<"liT 

(4) ~ 

24. The newly introduced Indian Rupee Symbol is based on .......... 

(I) Roman Script 

(3) Both the above 

(2) Devnagiri Script 

(4) Arabic script 

om m if ~w I f'I d '1mit<! ~ q;j '1'!1 feR f.r>f1: t ...... 
(I) WR m (2) ~q'1I'l\l m (3) 1 31'R 2 ~ (4) aroiI m 

25. The meaning of Buddha is : 

(1) Anything beyond God 

(2) Soul after death 

(3) The enlightened one 

(4) The ultimate path of Moksha 

':Fi' "B <l1<'l'f t : 
(1) ~m:"B<ft 

(3) 311,~'il1'1 wrm 

10 

(2) ~ iii -.w:: am<!! 

(4) liT&! q;j ~ 'IJl! 
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26. The longest mountain range in the world is : 

(1) Himalayas 

(3) Karakorum 

(2) Andes 

(4) Ural Mountain 

fcr'll it 'Iil'I"ffi q61f$~1' -.it ~ qo] r'lkU( wW'1"O t ? 

(1) Rl41(1~ (2) ~ (3) 'ii(1<'h1(4 (4) ~ 413-<!1 

27. In which year Panchayti Raj was started in our country? 

~ ~ it 'hi I ~ ctI 'lJ"! -.it 'll"'31I<f ~ "I'1f it ~ ? 

(I) 1957 (2) 1952 (3) 1959 (4) 1951 

28. The difference between 1ST and GMT is : 

(1) 2 hours 

(3) 5 hours 30 minutes 

~o 1l!! 0 il oam -;;ft 0 1l:'l oil 0 it 3Rf( t : 

(2) 4 hours 30 minutes 

(4) 6 hours 

( 1 ) 0) "l"R: qo] (2) <m: "l"R: 30 fiRe qo] 

(3) "Yfq "l"R: 3 0 fiRe qo] (4) ,,: "l"R: qo] 

29. The age ratio of Meena and her mother is 3:8 and the difference 
between their ages is 35 years. What will be their age ratio after 4 

years? 

>fRr am 'dWli\ '4i -.it 3lT'i qo] ~ 3;8 t am 'd'1'<'h1 3lT'i qo] 3Rf( 35 "I'1f tl 
4 "I'1f '!R 'd'1'<'h1 3lT'i qo] ~ 'l'lT WIT ? 

(1) 4: 12 (2) 5:12 (3) 6:14 (4) 2:8 

11 P.T.O. 



llP/291/3 

30. In a row the position of Ajai from the front is 13th and from the back it 

is 6 th • How many people are standing in that row? 

f'nm -qfu;- it 31"f'! qi\ Wlfu "fIT"!f.t it 13 <IT 3ih: w it -.m t I f<!;<R <Xlfu; ou 
-qfu;- it ~ t ? 

(1) 20 (2) 21 (3) 18 (4) 19 

31. One meter of wire is made into a circle. The area of the circle will be : 

(1 ) 
1 

2" 

1 
(2) -

..t1l (3) 
'IT 

4 (4) T 

32. In an examination, every candidate took Physics or Mathematics or 
both. 65.8% took Physics and 59.2% took Mathematics. The total 
number of candidates was 2000. How many took both Mathematics 
and Physics? 

f'nm 'lU8JT it ~ 'lU8JT>m 'I ~ '1T 'lfiim '1T <iAl ~ fuit ill 65.8% 'I 
~ 3ih: 59.2% 'I 'lfiim qi\ 'lU8JT <D I 'lUa;nf~ qi\ ~ <iw:n 2000 .n I f<!;<R 
m;it 'I 'lfiim 3ih: ~ <iAl fo!'!'!i qi\ 'lU8JT <D : 
(1) 5750 (2) 700 (3) 550 (4) 500 

33. A vendor bought lemons at 6 for a rupee. How many lemons for a 
rupee must be sold by him to gain 20% profit? 

(1) 4 for a rupee 

(3) 6 for a rupee 

(2) 5 for a rupee 

(4) 3 for a rupee 

f'nm ~ 'I "'" ~ it 6 "*t ~I or;; "'" ~ it f<!;<R "*t ~ flo ~ 
20% 111'1 it : 
(1) "'" ~ it 4 

(3) "'" ~ it 6 

12 

(2) "'" ~ it 5 

(4) "'" ~ it 3 
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34. A:B=5:7. B:C=8:9. then A:B:C=? 

,<: <ft = 5: 7, <ft : m = 8: 9 <it '< : <ft : m =? 

(1) 35:40:42 (2) 40:56:63 

(3) 5: 7 : 9 (4) 30: 32 : 40 

35. A man travels 4 km/hr. If he starts at 8:35 am how far will he go by 

4:25 pm? 

(1) 26 km 

1 
(3) 313 km 

(2) 25 km 

(4) 24 km 

~ C>lfu; 1:% ~ i\ 4 f'!;o>l\ 0 q,'\ G\ it ~ tl ~ % ~ 8 :35 o;i\ it "iR1'lT 

we ~ <it 3ffiW; 4: 25 o;i\ (f<l; fif;<f.\ f'!; 0 >l\ 0 q,'\ = ~ ? 

(1) 26 f'!;o>l\o 

1 
(3) 31- f'!;o>l\o 

3 

36. 7000, 14000,2800 ? 112,224 : 

(2) 25 f'!;o>l\o 

(4) 24 f'!;o>l\o 

(1) 640 (2) 420 (3) 560 (4) 540 

37. The average weight of6 boatmen in a boat is increased by 3 Ibs, when 

one of them weighing 160 lbs is replaced by a new man, what will be 

the weight of the new man in pounds: 

(1) 178lbs (2) 170lbs (3) 176lbs (4) 166lbs 

00 'Wl i\ ~ 6 "If'!'!>] "Ii1 ~ 'lR <i\'i ~ ~ 'Wf'! 'I'ii "fTffi t '"" m it 
1:% 0!Ifu;, P,l'll'h I 'lR 160 ~ t 'it ~ 'R 1:% 'f1!T WIT>: 'Wl i\ awn tl ~ 
"fi1 WIT>: "Ii1 'lR fif;<f.\ ~ t : 
(1) 178~ (2) 170~ (3) 176~ (4) 166~ 

13 P.T.O. 
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38. 50 men or 80 women can complete a task in 50 days. The contractor 
starts the task by hiring 40 men and 50 women and after every 10 
days he fires 5 men and 8 women till he finishes the task. How many 
days will he take to finish the task? 

(I) 45 DAYS (2) 50 DAYS (3) 54 DAYS (4) 62 DAYS 

50 ~ 3l"fCIT 80 Afl:i.1I~· flf;B\ q;p:f :'liT 50 fu:-;jj i!"'@ '"' ~ ~I dil>~R 40 
~ 0"11 50 -.:ffirctTai'I' <it i.1'ii<M ~ q;p:f 31Rl"l 'RllT tl ~ q;p:f <tt I.'IAIM 0"11 

mit'!; 10 fu:-;jj <tt 31CIfq i\; 'IR 5 ~ am: 8 -.:ffirctTai'I' <it q;p:f ~ ~ ~ t <it 
q;p:f "'@ ~ i! ~ 1'mR R:n't'll ? 

(I) 45 fu:-;jj i! "'@ 

(3) 54 fu:-;jj i! "'@ 

(2) 50 fu:-;jj i! "'@ 

(4) 62 fu:-;jj i! "'@ 

39. Which one of the following pairs is not correctly matched? 

River; Tributary 

(I) Yamuna: Betwa (2) Ganga: Son 

(3) Mahanadi: Wardha (4) Godavari: Manjra 

f.j<1f<'lf@11 ~ i! ~ 'lit-r--m ~ <@ 'i~f<'l11 "ItT t : 
'ft\T : M I q ('fj 'ft\T 
(I) 'I1j'fT: ~ 

(3) A~I'1<n: cr'll 
(2) 1jTrr: <if.! 
(4) 'lt~I'Hl:-.:j;;ro 

40. The surface area of a cube is 216 Sq.m. What is its volume? 

(I) 100eu.m (2) 216eu.m (3) 480 eU.m (4) 512 eU.m 

~ 'R i\; ~ Of;! ~ 216 crl ~ tl ~ 'R Of;! aW!<R C[C[J t ? 

(I) 100'R~ (2) 216'R~ 

(3) 480 'R ~ (4) 512 'R ~ 

14 



41. If ABRA-CADABRA is 1,2,9,1---3,1,4,1,2,9,1; 

HOCUS-POCUS will be ......... . 

"'lfc:: ABRA-CADABRA m 1,2,9,1---3,1,4,1,2,9,1; 

<it HOCUS-POCUS mrrr ......... . 
(1) 5,6,3,7,8 - 0,6,3,7,8 

(2) 8,16,5,21,19 - 16,15,5,21,19 

(3) 8,16,5,21,19 - 15,16,5,21,19 

(4) 5,6,3,7,8 - 6,5,3,8,7 

llP/291/3 

42. In a certain code, MARCH is written as OCTEJ, How will RETURN be 
written in that code? 

f<f;Bl "f<' 'II'fI it MARCH 'iii OCTEJ fffim ;;mIT t <it ~ "f<' 'II'fI it RETURN 
~fffim~ ? 
(1) TFl,JVSM (2) QGSTQM (3) TGVWTP (4) TGRVSO 

43. A city has a population of 3,00,000 out of which 1,80,000 are males. 
50% of the population is literate. If 70% of males are literate, the 
number of female literate is ........... . 

~ ~ 'iii "I'H'i&U 3,00,000 tl f;miI' ~ 1 ,80,000 ~ tl ~ "I'1ti&11 'lIT 
50% M&!O tl 3'flR 70% ~ M~ m, <it flI;o;fi ~fu(1I~' M&!O t ? 
(I) 24,000 (2) 30,000 (3) 54,000 (4) 60,000 

44. Sonu travelled from a point A straight to B, a distance of 12km. He 
turned right and tavelled 8km and reached point C. From that point 
he took right turn and trravelled 6km, and reached point D. How far 
is he away from the starting point? 

(I) 10km (2) 12km (3) 13km (4) 14km 

15 P.T.O. 
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~ ~ A it-m~ ikl'h( ~ B '1{ ~ t f"l+l'hl ~ 12 f<l;o~o tl m ~ 
~ (f("<!; 'i$'h( 8 f<l;o-,j\o "f<'I(jf t ;;fR ~ C'1{ 4§>iI<Wtl "ffiT it ~ ~ 
(f("<!;"Tf: 'i$'h( 6 f<l;o-,j\o "f<'I(jf tl <it ~ = ~ ~ i\; ~ it flI><r;fi ~ 
t? 
(1) 10 f<l;o-,j\o (2) 12 f<l;o-,j\o (3) 13 f<l;o-,j\o (4) 14 f<l;o-,j\o 

45. If a NATION is Coded as 467234 and EARN is coded as 1654; then 
ATTENTION should be coded as ....... .. 

f<I;-;jj ¥ 'IT'!T if NATION qir ftrnT "If<lT t 467234 ;;fR EARN qir ¥ 'IT'!T if 
ftrnT "If<lT t 1654 <it d11 ¥ 'IT'!T if A TT ENTIO N qir fc'l "l'1I 'iITflrii : 
(1) 432769561 (2) 956143654 

, 
(3) 766412743 (4) 677147234 

46. 45% of? + 30% of 90 = 30% of 210 : 

~ q;] 45% + 90 q;] 30% = 210 i\; 30% 

(1) 120 (2) 80 (3) 60 (4) 90 

47, 852.2109 + 106.78 - 59.157 =? 

(1) 899.8339 (2) 889.8339 (3) 899.9833 (4) 804.5879 

48. In an examination 70% students passed in English, 80% passed in 
Mathematics and 10% failed in both subjects. If in both the subjects 
total 144 students passed, then total number of students appeared 
in the exam, was, ....... 

'<'!' W8;lI if 70% <91?[ a:ii'G;ft if a'll 80% <91?[ 'lfirr<l if offiuf ~ a'll 10% <iRf 
fcror:jj if 3T~ ~I ~ <iRf if ¥T 144 <91?[ offiuf ~ m, <it m;it q,') ¥T <f&n 
flI><r;fi .rr ? 

(1) 125 (2) 200 (3) 240 (4) 375 
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49. Which of the following is different? 

(1) Anger (2) Love 

f-1""1f<'lf<Sld it it ~ -m f'f.l ~ ? 

(1)"iliT'l (2) UlR 

50. Simplify the following: 

H""ImRild <PI tl'(C'1~I<l5'(UI cffiGtil , 
1 1 1 2 
2-ofl-~I-x2-

4 2 8 5 

1 
(1) 7-:: 

.) 

1 
(2) 5-

5 

51. Simplify the following: 

H"'1mf"d <PI tl'(cn<l5,(UI cffifJlil , 

/./62.) + .. j.S7G - ? 

(1) 49 (2) 8 

(3) Anxiety 

(3) f%RIT 

1 
(3) 7-

8 

(3) 54 

llP/291/3 

(4) Intellect 

(4) ~ 

1 
(4) 58 

(4) 7 

52. The monthly income of a person was Rs. 13,500 and his monthly 

expenditure was Rs. 9,000. Next year his income increased by 14% 

and his expenditure increased by 7%. The percent increased in his 
savmgwas: 

F!>m ~ '1ft 3W! 13,500 ~ ~R1~I~ 2ft aW: "3B'l>1 llI<f 9,000 ~ "Ill 
wWt Bf('! ~ 3W! 14 ~R1~ld Off;" "Il<il ~ aW: llI<f .jt 7 ~R1~ld ~ ~ it ~ 
"ifi'fd it ~ ~R1~1 d '1ft W-& ~ I 
(1) 7 (2) 21 (3) 28 (4) 35 

17 P.T.O. 
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(Direction for Questions 53 and 54) 

Wf53~54~~~: 
Read the following information and answer questions 5_3 & 54 

R"1f<'1f<5ld "I:"RI 'lit ~ affi ~ 53 ~ 54 Of;!"3W ~I 

A class 0[30 students comprises of boys who can play cricket, Hockey, 
and Football. 3 boys play only Cricket, 3 boys play only Hockey and 2 
play only Football. 4 boys could play all the three games, while 11 
could play Football and Cricket and 10 boys could play Football and 
Hockey. 

53. How many boys played Cricket and Hockey but not Football ? 

(I) 01 (2) 02 (3) 03 (4) 05 

':'::'4. How many boys can play at least two games? 

(I) 16 (2) 18 (3) 10 (4) 22 

55. Anxiety causes ulcer. However, some who are happy - go - lucky type 
also suffer from ulcer. Which one of the following would strengthen 
the association of anxiety and ulcer? 

(1) Ulcer is caused by either excessive anxiety or spicy food. 

(2) Anxiety is harmful than ulcer. 

(3) About 90% women suffer from ulcer. 

(4) About 65% of ulcer patients were found to be high on anxiety. 

18 
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feRn W: i! "'!Ji'I 'liT q;j"(11f %1 ~ ~ <'iM ;;it '>1(1A k1 mit t -S; ,ft W: '4; "'!Ji'I it 
~ mit tl f.j"1fclf@iI i! it m feRn am: W: '4; "'!Ji'I '4; >;1ki"l <it 'R1 ~ 
'fi«IT % ? 

(I) W: 'liT "'!Ji'I 'IT <it -rr_ feRn it 'IT A>;1I<!1~R $A it m % 1 

(2) feRn W: '4; "'!Ji'I it ,ft "'lRT ~ 1 R on R on % 1 

(3) WT'1TT 90% m W: '4; "'!Ji'I it ~ m tl 
(4) W: '4;"'!Ji'I '4; WT'1TT 65% <'iM ~ feRn ~ mit tl 

(Direction for Questions 56 to 59) 

1lR 56 it 59 ~ft;ril-~ : 

Read the following information and answer questions 56 to 59 

Deepa is 5 years older than Bipin Raj is 5 years older than Chaman. 

Arun is double the age of Chaman and Bipin is 2 years older than 
Raj. Arun is 6 years old. 

<il'lr fiWR it 5 ~ ~ % am: U"I <l'R it 'Il<r ~ ~ %1 3R'Ul <l'R q,'\ ~ 
'liT ~ % am: fiWR U"I it 2 ~ ~ % 1 3R'Ul 6 q<f 'liT %1 

56. Who is the oldest of all ? 

(I) Arun (2) Bipin (3) Deepa (4) Raj 

m~~%? 
(I) 3R'Ul (2) fiWR (3) <il'lr (4) U"I 

19 P.T.O. 
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57. Who was the youngest of all 7 years back? 

(1 ) Arun (2) Bipin (3) Chaman (4) Raj 

7 qq ~ q;'j;, ~ <W:T 'IT ? 
(1 ) 3WJT (2) fc!fiR (3) "i11=R (4 ) m 

58. What is Bipin's age? 

(1 ) 6 years (2) 7 years (3) 8 years (4) 10 years 

fc!fiR q,'j ~ q<IT i ? 
(1 ) 6qq (2) 7qq (3) 8qq (4 ) 10qq 

59. How old was Bipin when Arun was born? 

(1 ) 3 years (2) 4 years (3) 5 years (4) 6 years 

"'" 3WJT ~ 8;311 <it fc!fiR ~ ~ 'IT ? 
( 1) 3qq (2) 4qq (3) 5qq (4 ) 6qq 

60. The speed of two trains is in the ratio 6:7. If the second train runs 
364 km in 4 hours, then the speed of the first train is ....... . 

(1) 60 km/hr (2) 72 km/hr (3) 78 km/hr (4) 84 km/hr 

en 'IIn"~l q,'j ~ 'liT ~ 6: 7 il '!fu: ~ ~ 4 errZ i! 364 f'!;l:i\ 0 "ifffiiI 
i<it~~q,'j~~ : 
( 1) 60 f'!;l:i\/ <mT 

(3) 78f'!;l:i\/ <mT 

(2) 72 f'!;l:i\/ <mT 

(4) 84 f'!;l:i\/ <mT 

61. What would be the cost of building a fence around a square plot with 
area equal to 361 sq. ft. If the price per foot of building the fence is 

Rs. 62? 

(1) RS.4026 (2) Rso 4712 (3) Rs. 3948 (4) Rs. 3875 

20 
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'1fe: ~ ffi ~ "lIf<r F '1>1 <'fTlT<l 62 ~ m it 00 <'4' IT'h1{ '<'llG ~ '<"Iffi <R'Ii 

~ WTR '1>1 <'fTlT<l "<"!<IT W1t ? 

(I) 4026 ~ (2) 4712 ~ (3) 3948 ~ (4) 3875 ~ 

62. What would be the compound interest accrued on an amount of Rs. 
8000 at the rate of 15 p.c.p.a in three years? 

(I) RS.4283 (2) RS.4051 (3) Rs.4167 (4) Rs.4325 

15 "lIf<r ~ RI <"I t( '1>1 ~ 'B <if.! "<"I'if ~ Wri\ 8,0 00 ~ 'liT = ilili i roli 01!T'il"<"!<IT 

m? 
(I) 4283 ~ (2) 4051 ~ (3) 4167 ~ (4) 4325 ~ 

63. A and B can complete a task together in 15 days. A is 50% more 

competent than B. How much time will A take to complete that task 

alone? 

(I) 20 days (2) 21 days (3) 21.4 days (4) 22.5 days 

A 3ih: B r~<.'I'h( 00 '<"liT'! "<"Ii't 15 ~ i'i 'I.'1 "h1: ~ ~ B q;j WRT i'i A 50% 

a:IT'T'h" ¥f<.1 %1 ~ A"<"Ii't '3"f! '<"liT'! "<"Ii't 'I.'1 m i'i f<Ii'iRT Wl'l <'Ii'rn ? 

(I) 20~ (2) 21 ~ (3) 21.4~ (4) 22.5~ 

64. If 3x = 5y = 4z then x : y : z will be equal to : 

'1fe: 3x = 5y = 4z m, it x : y : z 'l1Jif( m : 
(I) 9: 12: 16 (2) 20: 12: 15 (3) 15: 10:9 (4) 8:5:3 

65. If JT = 256 then the value of x is : 

'1fe: JT = 256 it x 'l1Jif( m : 
(I) 14 (2) 16 (3) 18 (4) 20 

21 P.T.O. 
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66. The average age of 20 students in a class is 15yr. If the teacher's age 
is included, the average increases by one. What is the teacher's age? 

(1) 30 yr. (2) 21 yr. (3) 42 yr. (4) 36 yr. 

f'Rft 'lia.-TT ~ -.jffi ..m\ q,'\ ~ ~ 15 'l'f -tl '!ft: rnll:l'li q,'\ 3ll'J: <t\ flr""lrclil 
~ "q"{. ~ 3ll'J: it '<'Ii q,'\ ~ ~ "If(jt l m rnll:l'li q,'\ 3ll'J: 'l'lT -t ? 
(1) 30'l'f (2) 21'l'f (3) 42'l'f (4) 36'l'f 

67. A boat carrying a number oflarge stones is floating in a water tank. If 
the stones in the boat are unloaded into the water of water tank, 
what will happen to the water level? 

(1) The water level in the tank will fall 

(2) The water level in the tank will rise 

(3) The water levei in the tank will not change 

(4) The water lever in the tank will depend on the depth of water 
tank. 

'<'Ii '{jq f;mit ~ ~ wr: m ~ t 'If'it q,'\ iq,'\ it "11\ Wt -tl '!ft: '{jq it <l w.m 
<t\ r-1'1i I i.1 "" iq,'\ ~ 'lR\ it "Wl ~ ~ <f'I 'lR\ ~ ('R'f "q"{ 'l'lT >I'll<! -wrr ? 
(I) iq,'\ it 'lR\ "'liT ('R'f ~ q,'\ aiR fiR ~ I 
(2) iq,'\ it 'lR\ "'liT ('R'f "di'R q,'\ aiR "i$rr I 
(3) iq,'\ it 'lR\ ~ ('R'f it ~ q R ,fiI;1 'ftff m-rrr I 
(4) iq,'\ it'lR\"'IiT ('R'f iq,'\ q,'\ ~ "q"{ R~ 'lit<TI1 

68. In Budget Estimates 2010-2011 the fiscal deficit had been estimated 
at 5.5% of the GDP. To what extent of"the GDP has it been brought 
down in the Revised Budget Estimates 2010-2011 ? 

~ 3JTlR 2010-20 11 it (I "I ehI til ~ '1"RH:rifi.1 '*'t ~"'IiT 5.5% 31iq;j T[lff 

'lT1 "WIilf'l<! ~ 3JTlR 20 10-11 it"fl'li"i.1 '*'t ~ f<lm "$IT (fiji "RT'!T T[lff 

~ ? 

(1) 4.5% (2) 4.8% (3) 5.3% (4) 5.1% 
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69. To what extent is Indian economy expected to grow with an outside 
band of + / -0.25 percent in 2011-2012 as per Union Budget? 

~ ~ iii" ~ 2011-2012 if ~ al1f>fq; fCl'hIB +/-0.25 ~RI~ld iii" 
om;:r ~ iii" BT'l fflT amfl\1d t ? 
(1) 8.5% (2) 9.0% (3) 8.47% (4) 9.2% 

70. The Economic Survey, 2010-2011 presented in the Lok Sabha on 
February 25, 2011 estimated the GDP growth in real terms during 
2010-2011 at: 

B\q; ~'lT if 'l'{i'Hl 25, 2011 qi) ~ al1f>fq; ifcfllJUT 2010-2011 "t 'f'll,j 
~.j if ~ ~ ~"'liT "l1'h011 2010-2011if fll;<n ;;iT'll: 

(1) 8.9% (2) 9.0% (3) 9.1% (4) 8.6% 

71. Which of the following is expected to be finalized for enactment dur­
ing 2011-2012 ? 

(1) Indirect Taxes Code 

(3) Corporate Taxes Code 

(2) Direct Taxes Code 

(4) Goods services Taxes Code 

f.t "l f<:'1 f@d if it fM <'h I 20 11-20 12 if"'lif'B "H I <'h { ""'l 'liWt "'liT ~ f.ruM 
~t? 
(I) ~'\l ~ m (2) >Il'l'\l ~ m 
(3) <'h1{~1{<! ~ m (4) ~ v:<'i ;fIcll<'h{ m 

72. What was the percent share of the tertiary sector, the highest con­
tributing sector, toward the national income of India? 

~<il~<'h >$I, ;;iT mff"'" a:i~IGI<ll >$I t "'liT ~ ~ 31T'! if f<I;o;n ~RI~ld 'IT'T 
'lI? 

(1) 52.5% (2) 58.5% (3) 57.0% (4) 56.5% 
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73. The Union Budget 2011 has proposed a "very Senior Citizen" cat­

egory of income tax payers. This category is meant for those who are 

above the age of : 

74. 

75. 

76. 

77. 

(1) 75 yrs (2) 70 yrs (3) 80 yrs (4) 65 yrs 

~ ~ 2011 '! ~ Gl1!TaTI ~ ~ '31fu "I'ftg '11'IR'I>' crf'lil QWif<1(j 

~ tl 'ffi crf d'! <.'itri\ ~ ft-m: t r"l'1'hl .~ t : 
(1) 75 crhi an>T'li (2) 70 cr<f -B an>T'li 
(3) 80 cr<f -B an>T'li 

Direction for questions (74-77) : 

Choose the correct meaning of the idioms given below: 

Over the head and ears: 

(1 ) Carefully 

(3) Brilliantly 

Blue blood: 

(1 ) Dirty blood 

(3) Aristocratic ancestr:y 

Fair and square: 

(1 ) Blunt 

(3) Wise and clever 

A bone of contention: 

(1 ) A subject of peace 

(3) A subject of dispute 

24 

(2) Completely 

(4) Cautiously 

(2) Unknown descent 

(4) Pure blood 

(2) Imprudent 

(4) Honest 

(2) A subject of trade 

(4) A subject of exports 
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Dire"tion (78-79) : 

Cho ose the most appropriate option to fill in the blanks. 

78. Th e chief quality of a nation state has to do with a definition of na-

tir)nal " ........ rather than international ....... . 

(1) Crisis, tranquility 

1\3) Identity, boundaries 

(2) Interest, policy 

(4) Demands, pressures 

79, The basic principles of a policy are ............ to its implementation, 

80. 

81. 

and must not be dismissed as .. , 

(1) Necessary, trivial 

(3) Fundamental, elementary 

Directions (80-83): 

(2) Essential, unnecessary 

(4) Important, light weight 

Each capitalized word given below is followed by four words. Select 

the word that is most similar in meaning to the word in capital 

letters. 

SEETHING: 

( 1) Assembling 

(3) Receiving 

SLOTH: 

(1 ) Laziness 

(3) Sludge 

(2) Suffering 

(4) Boiling 

(2) Anger 

(4) Malady 

25 P.T.O. 
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82. 

83. 

84. 

85. 

86. 

ONUS: 

(1) Sadness 

(3) Responsibility 

GRUFF: 

(1) Hard 

(3) Tough 

Directions (84·86) : 

(2) Happiness 

(4) Criticism 

(2) Rough 

(4) Sturdy 

Each capitalized word given below is followed by four words. Select 

the word which is opposite in meaning to the word in capitallettcTs. 

VACILLATION: 

(1) Steeliness 

(3) Steadfastness 

DERELICTION: 

(1 ) Assiduousness 

(3) Uncanniness 

SANCTIMONIOUS: 

(1) Devout 

(3) Empirical 

26 

(2) Intransigence 

(4) Occupation 

(2) Propriety 

(4) Verbosity 

(2) Maudlin 

(4) Impious 



87. 

88. 

89. 

90. 
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In the following questions group of four words are given. In each 

group one word is correctly speIt. Find th~ correctly splet word. 

(1 ) Sponsership (2) Soveriegn 

(3) Subservient (4) Sepulcher 

( 1) Coersion (2) Precision 

(3) N egociation (4) Explotion 

Tick the correct Preposition to be filled in the gtven blank. 

We congratulated him .................. his success: 

(1) for (2) on 

(3) at (4) over 

Change the voice. 

She will buy the book. 

The book 

(1 ) Will be bought by her (2) Was bought by her 

(3) Must be bought by her (4) Is bought by her 

91. Words given below have a definite relationship. Your task is to find 

out the choice with similar relationship. 

Hat: Head wear 

(1) Shark: Fish 

(3) Shoe: Socks 

27 

(2) Crocodile: Terrapin 

(4) Glove: Hand 

P.T.O. 
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Directions (Qs 92 to 951 : 

Read the folloVling passage carefully to answer these questions based 

on what is stated or implied in the passage. 

Dr. S. Radhakrishnan, the illustrious philosopher statesman of In­

dia, was one of the greatest sons of our motherland. He cautioned 

the world against the dominance of science in society. It is erroneous 

to claim that scientific knowledge would bring with it perpetual 

progress and a steady improvement in human relations. The recent 

period of great scientific achievements has also increased human 

misery: two world wars, concentration camps, and atomic destruc­

tion, and cold war, deadly wars in the Middle East, Persian Gulf and 

at many other places in the world. Growth in human wisdom has not 

been commensurate with the increase in scientific knowledge and 

power. The fear of universal destruction hangs over the world. There 

is a feeling of disenchantment, anxiety and even despair. Science 

has failed to liberate man from the tyranny of his own nature. Man­

kind is passing through a critical period and an education of the 

human spirit has become essential. In order to remake society, man 

has to remake himself. If humanity is to survive, man must integrate 

his knowledge with a social responsibility. 

92. Dr. Radhakrishnan has: 

(11 emphasized that science should be banished from the society 

(2) counseled that preponderance of science in life does not neces­

sarily generate happiness 

(3) opposed the teaching of science in educational institutions 

(41 favored scientific thinking in life 

28 
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93. The recent past of tremendous scientific knowledge has: 

(1) made the world a very happy place 

(2) led to global warming 

(3) brought about internal transformation in men 

(4) shown that human wisdom has not kept pace with galloping 
scientific knowledge 

94. Man is despaired of science because: 

(1) He is confronted with the nigbtroare of total annihilation of the 
world 

(2) Science has given too much knowledge 

(3) Science has brought him excessive material comforts 

(4) He has become a captive of science 

95. In this passage, the writer has tried to show that: 

(1) Science is the only savior that shall lead humanity forward 

(2) Science can bring about an end to all the wars 

(3) Social change comes with the advancement of science 

(4) Human wisdom must grow proportionately with growth of knowl 
edge to evolve a creative integration to help mankind. 

Directions for (96·1001 : 

In the following questions out of the four alternatives, choose the one 
which can be substituted for the given word/ sentences. 

96. One who tends to take a hopeful view of life: 

(1) Magnate 

(3) Pacifist 

29 

(2) Creator 

(4) Optimist 

P.T.O. 
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97. Belonging to all parts of the world : 

(1) Common (2) Universal 

(3) Worldly (4) International 

98. Fortify : 

( 1) Create (2) Generate 

(3) Prohibit (4) Strengthen 

99. Paucity : 

(1 ) Surplus (2) Shortage 

(3) Excess (4) Meanness 

100.Atrocity : 

(1) Envy (2) Violence 

(3) Jealousy (4) Absurdity 

30 1,500 
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